BAND'_OC'(@ 1111000011011 Fastener System D BAND'_OC,(@ IHIT00000011 Fastener System D

ADHESIVE BACKED TIE MOUNTS

ML ZEEE (B EMR )

« HW-3A. 4ABEE A SBHMI2MEELN, RESEIFRLZE2NEELIN. BIRZZA]
oj%i&, ReEEENREMEE, FrlEATa=RaIlNRE,

e I FEEENFMUMENR. F20H5%, B4 B OFFRMAERTEIL, EIEEICE,
HEURIEEZEBKESZEENFR.

s EARENBSEREEMZLT, [ ZMAFE~, 8FRNEIREH S, BREHIEER

CABLE FIXING ACCESSORIES TAPE CLIPS

[l € < EE

Y
4

I}

s BEEREANBAESMEEER. FEEESFTFIANEFLAP,
» KEFHRBREERERTUR T, BERIMEIEERN, HEEMEERBYEERER]E
fREERVRREM, AM=UHEEFEIRTT, BEMENEea T, BEERTEHN. =L
Bl il o

o TREREMINZIT. FE, BESAREREZ . M NREEKEEEF I E S MmiaE r] E/Y#

REZE, N ZNBTFEMSHIEIE. JlmshsFr=lk, £MNEESIN, NARTREERAZES.2mm.
. AEZEFFMCAZITE » MIR: BH66, MMFHRULIAV -2
- B BAB. BB

. MR: MEGG MIRFRULIAV -2

FTC-003 FTC-004 FTC-005

Part No. =

Mounting Screw  Apply to Cable Ties
W22z R~J BECFLH mm(inch)

1000pcs/bag 100pcs/bag

waj)sAg Jauajse
Fastener System

AUTOMATIC HARNESS HOSE CLIPS H\W=2A HW=-2AC 12 7 3.2 3.2 - — 2.5mm(0.10)
ok 26 [E] E 3K > Hrm(0.10)
HW-3A 19.0 4.4 4.0 0 3.5 #5 Screw 3.6mm(0.14)
o LR 2238 B R EE SRR & . 2.5mm(0.10)
- BFVEERRITEE, FRRTF. ARERTHBMEY . SLOREYE, TERAFEMN HW-4A 27.8 5.7 5.3 ®5.7 il I i )
R?_I_E{J%é%n - rﬂm( g )
. TS EHIIIZITE, F16-008
. R B66, MIRERULILV -2 SADDLE TIE MOUNTS

F, 2% [E] E EE

o FLEEIEENKERMETELES . BEIMIINITE, BALZRSERNIESE, RE{FRER2Z5;
R0 2EEE, SalEATaEENRE, RlRRTZEeRENEGMEELNLZ—-
. TARENBSEREENZ, [ ZMNAFHE~I, 8FRIEIREREN, BREIEER
HNEELFR, NARTRERAKEI.Omm.
. ¥&R: B66, MRFRULI4V -2

AUTOMATIC HARNESS CLIPS

al

==
feZ&ExEA  BE. BAE
« THERAR®T, ZRNATBEEEREFXRAN. BREAEFERE ii ﬁ::ﬁ_]
R, NRAZWARILIT. LML ERERE . EINBZEFF Hnle Dia)
ﬁi%u
« FMRT. SMEELNEEE#HLITH, 0. fHeEz, Part No. 225 Mounting Screw ~ Apply to Cable Ties
ﬂ?fir:, IWEA?;E%; ;E)\é*ﬁﬂggﬂl] B|& I'-En ‘]OOOpcsfbag 100[3(;3/[339 IRZZRT fEBcFLT mm(lnch)
© AIERERACAREIR TM-2S6 TM-2S6C | 14.9(0.587) | 9.5(0.374) | 7.2(0.283) | ©3.7(0.146) |  #6 Screw 4.8mm(0.19)
s MR: BK66, MMRFERULILV -2
. Hits., B TM-2S8 TM-2S8C 14.9(0.587) | 9.5(0.374) 7.2(0.283) | ®4.5(0.177) #8 Screw 4.8mm(0.19)
TM-3S8 TM-3S8C 21.9(0.862) | 15.9(0.626) 9.7(0.382) | ©4.5(0.177) #8 Screw 7.6mm(0.30)
TM-3S10 TM-3S10C 21.9(0.862) | 15.9(0.626) 9.7(0.382) | ©5.0(0.197) #10 Screw 7.6mm(0.30)
FTC-001 TM-3S25 TM-3525C 21.9(0.862) | 15.9(0.626) | 9.7(0.382) | ©6.4(0.252) 1/4” Screw 7.6mm(0.30)

P59 P60




